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'(¢) Mention the basic differen,

(f) T T . S e g ” |
, fev::mspem%mhabitsinau'ee;however'
niche they are m Too iems. What partiular
4 Y a man.ltam,ingbetween.the'm ?
@) Spatialnicke |
(i) Trophic niche
(iii) Multidimensional niche
(iv) None of the,‘abéve.' o

Answer the followi |
4 ollowing very sh ‘
_(Allﬁvle questions an compul(s’:ryt;'l?e of q;esstions
(@ How group Iivj " o
a) I p living i

57 & 1s beneficial for the
(b) Mention the major dif,

and butterflies.

range and territory in anj ¢ between home
| animals,

d) In ‘v;'lhich population growty curv d
reac . " e, i
for a ets th ? pper limit, remains o1 th:tensny
une: then declines suddenly, ind; ol
catastrophic conditiong 7 " Widioaing

() Define migration of animals
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(¢) Whatis climate change ? Expl

f’r?nces between moths |

82/63/2 (SEM-4) ZOO- 402(C,F;W) 15)

3. Answer the following short type of questions (any |

six out of nine questions) : . - 5%6=30

(@ What do you mean by wildlife;iivestock

interface ? Explain why it is a major threat for
‘biodiversity. -~ ' 2+4+3=5

(b) What do you mean by zoonotic disease ?
[Explain how it spread from wildlife to human.

2+3=5

(c) What is the significance of mudpuddling in
Lepidopteran insects ? B 5
(d) Statethe difference between: crude density and
ecological density. - 5
ain briefly about
the impact of climate change on the biology of
insect with a suitable example. 2+3=5

(f) -Differentiate between learned and inna
behaviour with suitable examples. 5

(¢) Whatis abioindicator species ? Briefly discuss
the role of a bioindicator species in

about
grassland ecosystem. | 243=5
() Define camying capacity with suitable diagram.
5

(i) ‘Differentiate between polygyny and polyandry
\ _ :

with suitable examples in birds.
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- 4. . Answer any one of the following long answer type
questions : ‘ 10x2=20

(2 What do you mean by social organization ? .
* Describe briefly the social organization in any
of the hymenopteran insects. 3+7=10

(b) Name two 'endangered primates species in
Assam. Discuss eco-biology of one of the
species in detail. 2+8=10

(c) What is the different between habital and
niche ? Describe different niche theories have

been propounded with suitable examples and
illustration. 2+8=10

5. Answer any one of the following very long answer
type questions : 14x1=14

(a) Describe briefly about the life cycle of a
butterfly species belonging to Papilionidae
family. Mention how host plants and nectaring
plants are associate with their life cycle..

7+7=14

(b) What is parental care ? Narrate parental care
' in birds with suitable examples.  2+12=14
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